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| - Quiz 7
This quiz is graded out of 10 marks. No books, calculators, notes or cell phones are allowed, You must show all your work, the cor-
rect answer is worth 1 mark the remaining marks are given for the work. If you need more space for your answer use the back of the page.

Question 1. (4 marks) §2.1 #40 Prove that (x;,y,), (x2,2), and (x3,y3) are collinear points if and only if
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Question 2. (3 marks) §2.2 #13 Evaluate the determinant of the given matrix by reducing the matrix to row echelon form.
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Question 3. (3 marks) §2.3 #33 Prove that if det(4) = 1 and all the entries in A are integers, then all the entries in A~" are integers.
Al L ady A |  enlriey of the walvrix A,
det A S The ,omcfva?f s0u1 and

% cuf)) A | i z[z[{ff”t?{/ ot mj,,ﬁey; ovt

23) A |
Suqcfe, the a,de s 9gmfmuﬁ~ccl ..’0/1'} o witegers.
by 607[@5&"/9 Coz[awﬁzyf/ﬁ A are 7{
ore uéilma?ft/y the /m/oo'fuoz;
Svwn owzd d}{ﬁgif{ﬂ&c of tfme

It

mt%ws

(A

the enlvies of

Question 4. The augmented matrix of a linear system is given by
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a. (2 marks) no solution? Justify.
b. (2 imarks) exactly one solution? Justify.

c. (I mark) infinitely many solutions?
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